RS. 12 TAZZE 101 HHITRIUM Ty, 03

12 cup optional

descrizi

1 401537 DISCO PORTA BICCHIERI 20 902475 VITETEM8 x 10

2 905608 DADO M 14 CIECO 21 907305 RONDELLA LARGA 28

3 907105 RONDELLA PIANA 08 22 401241 CARTER DESTRO RIDUTTORE

4 902104 VITE TE M8 x 20 23 401719 CARTER SINISTRO RIDUTTORE 12 F.
5 401216 BICCHIERE DISTRIBUTORE 24 401563 CARTER DESTRO RIDUTTORE 12 F.
6 904132 VITETBEIM6 x 16 25 401540 DISCO DI STRISCIAMENTO 12 F.

7 906104 DADO ATB M6 BASSO 26 401309 RIDUZIONE

8 906105 DADO ATB M8 BASSO 27 401260 PROLUNGA

9 400979 PROTEZIONE DISTRIBUTORE

10 907304 RONDELLA LARGA @6

11 401218 DISCO DI STRISCIAMENTO

12 401237 PROTEZIONE 10 FORI

13 401217 DISCO PORTA BICCHIERI

14 400994 BOCCOLA DI FASE

15 401690 CARTER SINISTRO RIDUTTORE

16 905005 DADO M8 ALTO

17 800005 MOLLA

18 400289 RONDELLA 17 x25x 2

19 931024  LINGUETTA



